# **Boone County Purchasing**

Amy Gerskin Buyer



613 E. Ash St., Room 111 Columbia, MO 65201 Phone: (573) 886-4393 Fax: (573) 886-4390

#### **MEMORANDUM**

TO: Bid File – Award Recommendation

FROM: Amy Gerskin, Buyer

DATE: May 30, 2023

RE: Request for Bid Award Recommendation: 22-25MAY23 – Culvert

*Improvement – McGee Rd.* (County contract C000637)

Request for Bid 22-25MAY23 – Culvert Improvement – McGee Rd. (County contract C000637) closed on May 25, 2023. Nine bid responses were received.

The recommendation for the award is to T&B Trucking and Excavating, LLC of Hurdland, Missouri for offering the lowest and best bid of the responsive bid responses received.

Funds for this project are provided by Department 2041, Road and Bridge Resource Management Road Infrastructure Rehabilitation/Preservation, Account 71202, Contractor Costs. Per Resource Management Engineer Micah Taylor, additional funds for this project are available from the Department's budget for the second large culvert repair project.

ATT Bid Award Recommendation Memo

**Bid Tabulation** 

cc: Bid File

Micah Taylor, Resource Management

# **Boone County Purchasing**

Amy Gerskin Buyer



613 E. Ash Street, Rm. 110 Columbia, MO 65201 (573) 886-4393 (573) 886-4390

10.	Mican Taylor
FROM:	Amy Gerskin Buyer
DATE:	May 26, 2023
RE:	Bid Award Recommendation – 22-25MAY23 – Culvert Improvement – McGee Rd.
Please return th	bid tabulation for the <b>nine (9)</b> responses received for the above referenced bid. is cover sheet with your recommendation by e-mail after you have completed the is bid. If you have any questions, let me know.
DEPARTMEN	T REPLY:
Please	complete the following:
Depart	ment Number: 2041
Accour	nt Number: 71202
Budget	ed: \$180,000 09
Award	Amount: \$191,611.00 Extra funds avialable
Contin	Amount: \$18,611.00 (102) Cotra funds avidlable  From budget for 2nd  gency Amount: \$18,161.00 (102) large culvert project
Grand	100 777 10
	Award Bid by lowest responsive bid to T&B Trucking and Excavating LLC
	Recommend accepting the following bid(s) for reasons detailed on attached page. (Attach department recommendation).
	Recommend rejecting all bids for reasons detailed on attached page. (Attach department recommendation).
Administrative	Authority Signature: Date: 5/26/23

## 22-25MAY23 CULVERT IMPROVEMENT - MCGEE RD. #4155

				JK Concrete & Hauling LLC		Schneiders Excavating		T&B Trucking and Excavating LLC	
Description	Qty.	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	
MOBILIZATION	1	LS	\$34,000.00	\$34,000.00	\$9,935.00	\$9,935.00	\$17,000.00	\$17,000.00	
TRAFFIC CONTROL	1	LS	\$3,320.00	\$3,320.00	\$4,284.00	\$4,284.00	\$4,000.00	\$4,000.00	
CONSTRUCTION STAKING	1	LS	\$3,500.00	\$3,500.00	\$1,950.00	\$1,950.00	\$1,750.00	\$1,750.00	
EROSION CONTROL	1	LS	\$2,400.00	\$2,400.00	\$2,022.00	\$2,022.00	\$3,500.00	\$3,500.00	
CLEARING AND GRUBBING	1	LS	\$2,500.00	\$2,500.00	\$2,750.00	\$2,750.00	\$7,500.00	\$7,500.00	
STREAM FLOW CONTROUDEWATERING	1	LS	\$3,000.00	\$3,000.00	\$5,575.00	\$5,575.00	\$2,500.00	\$2,500.00	
REMOVALS	1	LS	\$14,800.00	\$14,800.00	\$1,942.00	\$1,942.00	\$6,000.00	\$6,000.00	
ROCK EXCAVATION	26	CY	\$0.01	\$0.26	\$35.00	\$910.00	\$1.00	\$26.00	
UNSUITABLE CULVERT FOUNDATION	77	CY	\$83.00	\$6,391.00	\$107.00	\$8,239.00	\$40.00	\$3,080.00	
16'Wx7'H PRECAST REINF. CONC. BOX CULVERT	54	LF	\$2,155.00	\$116,370.00	\$1,867.00	\$100,818.00	\$1,600.00	\$86,400.00	
6' LONG, 16'Wx7'H PRECAST REINF. CONC. BOX BEVELED ENDS	2	EA	\$15,387.00	\$30,774.00	\$9,135.50	\$18,271.00	\$10,000.00	\$20,000.00	
BANK GRADING AND SHAPING	1	LS	\$4,350.00	\$4,350.00	\$3,730.00	\$3,730.00	\$3,500.00	\$3,500.00	
2' THICK, TYPE 2 ROCK BLANKET WITH FILTER FABRIC	108	CY	\$70.00	\$7,560.00	\$109.00	\$11,772.00	\$80.00	\$8,640.00	
ASPHALT ROAD PATCH	147	SY	\$105.00	\$15,435.00	\$133.00	\$19,551.00	\$95.00	\$13,965.00	
RESTORATION (4" TOPSOIL, LIME, FERTILIZER, SEED, STRAW)	1	LS	\$5,522.00	\$5,522.00	\$2,730.00	\$2,730.00	\$3,750.00	\$3,750.00	
MCGEE RD. TOTAL:				\$249,922.26		\$194,479.00		\$181,611.00	

### 22-25MAY23 CULVERT IMPROVEMENT - MCGEE RD. #4155

BID TABULAT		e Excavating Inc.		chneiders ing Co. Inc.	CL Richardson Construction			
Description	Qty.	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
MOBILIZATION	1	LS	\$59,720.00	\$59,720.00	\$15,500.00	\$15,500.00	\$15,772.10	\$15,772.10
TRAFFIC CONTROL	1	LS	\$3,750.00	\$3,750.00	\$3,200.00	\$3,200.00	\$3,953.00	\$3,953.00
CONSTRUCTION STAKING	1	LS	\$4,500.00	\$4,500.00	\$2,500.00	\$2,500.00	\$5,720.00	\$5,720.00
EROSION CONTROL	1	LS	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	\$1,326.82	\$1,326.82
CLEARING AND GRUBBING	1	LS	\$3,200.00	\$3,200.00	\$4,840.00	\$4,840.00	\$2,564.10	\$2,564.10
STREAM FLOW CONTROUDEWATERING	1	LS	\$6,000.00	\$6,000.00	\$4,000.00	\$4,000.00	\$1,523.28	\$1,523.28
REMOVALS	1	LS	\$5,105.00	\$5,105.00	\$5,340.00	\$5,340.00	\$3,340.92	\$3,340.92
ROCK EXCAVATION	26	CY	\$100.00	\$2,600.00	\$150.00	\$3,900.00	\$220.86	\$5,742.36
UNSUITABLE CULVERT FOUNDATION	77	CY	\$85.00	\$6,545.00	\$129.00	\$9,933.00	\$145.10	\$11,172.70
16'Wx7'H PRECAST REINF. CONC. BOX CULVERT	54	LF	\$1,750.00	\$94,500.00	\$1,550.00	\$83,700.00	\$2,313.40	\$124,923.60
6' LONG, 16'Wx7'H PRECAST REINF. CONC. BOX BEVELED ENDS	2	EA	\$11,000.00	\$22,000.00	\$5,700.00	\$11,400.00	\$8,028.46	\$16,056.92
BANK GRADING AND SHAPING	1	LS	\$6,250.00	\$6,250.00	\$6,240.00	\$6,240.00	\$3,398.56	\$3,398.56
2' THICK, TYPE 2 ROCK BLANKET WITH FILTER FABRIC	108	CY	\$55.00	\$5,940.00	\$90.00	\$9,720.00	\$110.61	\$11,945.88
ASPHALT ROAD PATCH	147	SY	\$120.00	\$17,640.00	\$110.00	\$16,170.00	\$99.00	\$14,553.00
RESTORATION (4" TOPSOIL, LIME, FERTILIZER, SEED, STRAW)	1	LS	\$9,750.00	\$9,750.00	\$6,000.00	\$6,000.00	\$5,975.85	\$5,975.85
MCGEE RD. TOTAL:				\$250,000.00		\$183,443.00		\$227,969.09

### 22-25MAY23 CULVERT IMPROVEMENT - MCGEE RD. #4155

BID TABULAT			quipment and ders, LLC	Remsel Co	orporation	ESS Inc.		
Description	Qty.	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
MOBILIZATION	1	LS	\$46,357.09	\$46,357.09	\$11,000.00	\$11,000.00	\$6,400.00	\$6,400.00
TRAFFIC CONTROL	1	LS	\$2,094.34	\$2,094.34	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00
CONSTRUCTION STAKING	1	LS	\$7,359.64	\$7,359.64	\$3,000.00	\$3,000.00	\$1,795.00	\$1,795.00
EROSION CONTROL	1	LS	\$5,766.59	\$5,766.59	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00
CLEARING AND GRUBBING	1	LS	\$4,505.78	\$4,505.78	\$5,500.00	\$5,500.00	\$1,685.00	\$1,685.00
STREAM FLOW CONTROUDEWATERING	1	LS	\$1,451.74	\$1,451.74	\$6,000.00	\$6,000.00	\$4,100.00	\$4,100.00
REMOVALS	1	LS	\$11,328.37	\$11,328.37	\$5,000.00	\$5,000.00	\$5,850.00	\$5,850.00
ROCK EXCAVATION	26	CY	\$60.69	\$1,577.94	\$170.00	\$4,420.00	\$145.00	\$3,770.00
UNSUITABLE CULVERT FOUNDATION	77	CY	\$71.93	\$5,538.61	\$120.00	\$9,240.00	\$109.00	\$8,393.00
16'Wx7'H PRECAST REINF. CONC. BOX CULVERT	54	LF	\$23,395.75	\$1,263,370.50	\$2,450.00	\$132,300.00	\$2,015.00	\$108,810.00
6' LONG, 16'Wx7'H PRECAST REINF. CONC. BOX BEVELED ENDS	2	EA	\$11,266.50	\$22,533.00	\$7,500.00	\$15,000.00	\$7,250.00	\$14,500.00
BANK GRADING AND SHAPING	1	LS	\$4,668.11	\$4,668.11	\$3,500.00	\$3,500.00	\$1,600.00	\$1,600.00
2' THICK, TYPE 2 ROCK BLANKET WITH FILTER FABRIC	108	CY	\$99.00	\$10,692.00	\$80.00	\$8,640.00	\$102.00	\$11,016.00
ASPHALT ROAD PATCH	147	SY	\$220.79	\$32,456.13	\$150.00	\$22,050.00	\$120.00	\$17,640.00
RESTORATION (4" TOPSOIL, LIME, FERTILIZER, SEED, STRAW)	1	LS	\$18,332.33	\$18,332.33	\$10,500.00	\$10,500.00	\$6,200.00	\$6,200.00
MCGEE RD. TOTAL:			\$1,438,032.17		\$241,150.00		\$198,759.00	